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(i) v=us 9 qet 30 U 2| |1 e erfard g |
(i) 7% yed & ford fFrad ofe S9a 9@ <9 T ¢ |
(iii) T =T 1 ggfdmed ued ¥ |

I AT 2 9 Th Uh (b ® U & |

T AT 10 A 15 P af 3fdh & U ¢ |

T3 AT 16 W 23 Tb I b b U B |

I AT 24 | 30 IP AR b b YA T |

(i) There are in all 30 questions in this question Paper. All questions are compulsory.
(i) Marks allocated to every question are indicated against it.
(ili)  Question No 1 is multiple choice type question .

Question No. 2 to 9 are of one mark each.

Question No. 10 to 15 are of two marks each.

Question No. 16 to 23 are of three marks each.

Question No. 24 to 30 are of four marks each.

9 U & YD WUS & IR H AR [dben (G T 2| el fdded - IR gRedT H iR |

Four options are given in each part of this question .Write the correct answer in your answer book.

AISTH ISHET BT IS T &— 1
The chemical formula of Sodium Bicarbonate is-

(i) HNOs (if) CHsCOOH (iii) NaHCOs (iv) CsH/OH

PIs e ot foled &I el &) <1 8, S9dT pH dvad: 8Fm— 1

A solution turns red litmus to blue , its pH is likely to be-

i 3 i) 4 (i) 5 (iv) 9
Hq9a 95 & o ART # {5 axg a1 ufife e9ar §, 9 ® - 1
(i) prfrar (i) gRaTReT (ili)  goel (iv) gftcucd

The human eye form the image of an object at its-

(i) Cornea (i) Iris (iii)  Pupil (iv) Retina
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fagd aRuer § |’ &1 F6fid &1 & ol wgaa udie &—
The symbol used to represent a ‘cell’ in an electric circuit is-
0 ~AM— @) i _|li W) )

foe ufoR®r &1 SI w3 32—

(i) i (i) TR (ili) dree (iv) JM—Hex
The S.1. unit of electric resistance is-

(i) Ohm (if) Ampere (iii))  Volt (iv) Ohm-metar
Telid UV & ¢T T I BT & 61 B U HEarl 28—

(i) aspar B (il) v (iii) gpar = (iv) e 3fer
The distance between pole and principal focus of a spherical mirror is called-
(i) Radius of Curvature (iii)  Focal length

(ii) Centre of Curvature (iv)  Principal axis
Fe2O3 + 2Al Al,Oz + 2Fe

SR & T SrfAfhaT B

The above shown reaction is-

(i) TS sttt (Combination reaction)
(DRERISERSIRIER] (Decomposition reaction)

(i) fa=ermos srfafdar (Displacement reaction)

(iv) fefaemus arffshar (Double displacement reaction)

IR & I 3aId 5—

OEEIESISE] (i) s (i) w2 (iv) T
The main constituent of bio-gas is-

(i) Oxygen (i) Ammonia (iii) Methane (iv) Ethane
GIdel & R fagal b A qargd?

Name the main constituents of brass?

IR ® U W dTel USigd &1 =19 forlRad |

Write the name of enzyme found in saliva.

doTe AT Ued &1 AveTHs g3 forlRad |

Write the structural formula of Benzene and Pantene.
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10.

11.

12,

13.

14,

15.

16.

HTs fIgd 9o 220V & SIfE | FARTT 21 99 9 0.50A fagd o1 yarfzd it = |
Jod BT FfdT ST BT |

An electric bulb is connected with the generator of 220V. The current flow in
bulb is 0.50A. Calculate the power of bulb.

Tahfelil dorr Swafelfl go &7 o Tah IR SIRT |

Give an example of each unisexual and bisexual flower.

AEG A9 IR 59 faRAT § IS S dTell €rg BT =M flay |

Write the name of metal that exists in liquid state at normal temperature.
TP I o DI BIHd g4 25 WHI & | §9 ofF DI AT FIT BEN?

The focal length of a convex lens is 25 cm. What will be the power of this lens.

%ol & & ddhfedd Al & A foIRey |

Write the name of two alternate sources of energy.

SR NG IAfhar B URMTT TT U ST IR |

Give the definition and an example of exothermic chemical reaction.
T ¥ fggve Ufshar &l bad = gRT A9sTsY |

Explain binary fission in amoeba by diagram only.

= BT HIel UF dfhT A€l & T—al Jd ITIRT a8y |

Give two important uses of each washing soda and baking soda.

YhTRIac Ud Jwcargad # &l 3R ferfead |
Write two differences between phototropism and geotropism.

U 3] QUUT gRT S~ AT +2 B | 39 HUT BT T U 872

2

The magnification produced by a concave mirror is +2 . What is the meaning of this

statement ?

AT BTSSRI 87 I8 fbd a9 UR®™T &l 18°?

What is ‘Ganga Action plan’? In which year it was launched?

a1 Il A do1 B & W] HHIG HE: 11 UT 17 B |

The two elements A and B have atomic no’s 11 and 17 respectively.
(@) A T B amad arelt # waf Rera 87

Where the elements A and B are placed in periodic table?
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17.

18.

19.

20.

@) A Tr B @) saiagie axar fiRkad |

Write the electronic configuration of A and B.

(1) 37 d@l § BT GTg AT DI AT 57

Which is metal and which is non-metal in these elements?

arerar OR

fferRad dal @& seldgI=e fawarT ((@ren § ) forReyr —

Write electronic configuration (in shell) of folloing elements-

@) Al(13) (@) Mg(12) @M CI(17)

gHTel @1 e H urey @) Srfhar Bl 7 | o gRT WHEsy | 3
Plant response in the direction of light . Explain with figure.

600W 1gAa &1 Big USiNex 8 HUS fifed efrar S & | 20 &7 @@ =t & fod Sl &1
q& 1 BRM? (&) 3.00 wUAT Ul fdhelrare gver ) 3

A refrigerator of 600W power is run for 8 hours/day. What will be the cost of the
energy to operate it for 20 days? ( Rate Rs 3.00 per kwh)

e gRuer # g HIRTT — 3

For given circuit diagram, calculate-

16
20N

N\
i
3.0V

(@) 9Rue BT Hel TR
Total resistance of the circuit.
(@) uRuer H yarfed kel 9T
Total current flowing in the circuit.
(@) 19 29d Yarer al fhRor fel o 9 ToRell ® a1 Ig 9ra I H faafia 8 ot 2

1

HRY IRy | 12

When a white ray of white light passes through a prism, it is dispersed in seven
colors. Write down the reason.
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21,

22,

23.

24,

(@) PIica & 999 g YaaM i udid 811§ P 1

N |-

Why does the sun appear reddish early in the morning?

grerar (OR)
() feSa ywra @ &° 1%
What is Tindal effect?
(@) = B GHOH &HAT W RIT AR § 7 1%

What is meant by power of accommodation of the eye?
ol & UThidd FAEH & HReTT g MY v+ IR forRke |
Write your own thoughts on conservation of natural resources of energy.

grerar (OR)

() 3rFeT a¥l T 7 37FeT AWl BT Yeh BIfIbReb YHTd feTRed |
What is Acid rain ? Write one harmful effect of acid rain.
(g) W SREAT T § ?

What is food chain ?

(@) BIEgCS BIWR e B ARG I IRy |

Write chemical formula of hydrated copper sulphate.

(@) CaOCl, difire &1 w=ferd A @I 87?

What is traditional name of CaOCl,,
(1) AT PrEFe | grad AreT 99 B NG rufhar folkey |

Write the chemical equation for formation of washing soda from sodium carbonate.

=1 o e fewoft falRey —

Write short note on following.

(@) Bfw gaw (o )

Acrtificial kidney ( Hemodialysis)

(@) gmewaq ( Regeneration)

(@) s AMRfHAT 7T 8?7 TP IaTeRVT QI |

What is Oxidation Reaction? Give one example.
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25.

26.

217.

28.

(@) 7 Ual ®r aRAINa BIfog— 2

Define the following terms-

(i) sres (i) T (i) @fst
Ore Gangue Mineral
AMT IR BT o g9Tdhx SHH UTs ST dTell ffaiRad vd-aTdl IfRrll & uaf¥ig HIfvie —
4
Draw a diagram of human body and level folloing endocrine glands is it-
(i) sracufer (Thyroid gland) (iti) drgw ufer (Pituitary gland)
(i) sr=arera (Pancreas) (iv) arfrgers sitr(Adrenal gland)
grerar (OR)
U G &I g PBIc Bl Weo I3 qHx ST F=foiad aril &l <wigd — 4

(i) wrTey (i) afdem UDEERSINR
Draw a diagram of the longitudinal section of a flower and label the following

part in it-
(i) Anther (if) Stigma (iii) Ovary

3T D U B ( Dad ARG FHHOT SRTT ) 4

How will you obtain (Give chemical equation only)

(i) TIHIa 9 QRIS I d (Ehanoic acid from Ethanol)

(ii) TIHE® 3l | TR (Ester from Ethanoic acid)

(iii) veFTat & wiiF (Ethene from Ethanol)

(iv) TR 9 geHld (Ethanol from Ester)

(@) ST UfIHRT &1 U= # Fa7 A8 27 e dIfg | 2

What is the importance of DNA copying in reproducation?

(@) aa ¥ g a1 ol fRuRer & grar 87 2
How is the sex of child determined in human beings?
(@) TP ded TR 10V 3R 500mA 3ifdhd 2| Sa HIfe— 2

A bulb is rated 10 V and 500mA calculate-

(i) 9e9 &1 UfcRKE (Resistance of Bulb)
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29.

30.

(DEEEIRIES] (Power of Bulb)

(iili) 5 gv¢ SA™ WR ded §RT SUFF SHoll (Energy consumed by bulb when it is lighted
for 5 hours)

() fazga wrer 59 Riga R &1 acl 27 2
On which principle electric motor works?

fhel) aacer of @1 BIHd 4 20 I & | IR &I o ¥ fhal 8 R W & 59 grT 99 @t
o ¥ 15 W 0 WR ufafe +° ufafem @ uefd emeR e srads S1d HINTg | 4

A Concave lens has focal length of 20cm At what distance should be the object from
the lens be placed so that it form an image a 15 cm from the lens? Find the nature, size
and magnification of image.

(@) TR RiaTg @1 W Yol ‘Hog’ &I G [hd I 4 87 1
Local system of canal irrigation ‘Kulh’ is related to which state?
() 3MSIT URA DI JhA Uga dlel Uh HR-IH Bl A1 eI | 1
Write the name of a chemical which the ozone layer.
(M) U <1 Soft |t @ AW forlRed e 3md Aoy A 27 1
Name two energy sources that you would consider to be renewable?
(@) T 7T oI Aidl & AW falRey [ o9 999 A 57 1
Name two energy sources that you would consider to be exhaustible?

grerar (OR)
Jf g9 @ el IR Al Bl fIRad | 4

Write any four benefits of constructing dams.
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